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WA | PART—A @)moirEsuLTe
HI YAt T / Computer Related Knowledge

1. fep e & R A o wd R 1. What is true about disk structure?
(A) H >‘ faf&st > At (A) Track > cylinder > sector

B) ffiTst > A5 > &% (B) Cylinder > sector > track

(C) &> qaet > st (C) Track > sector > cyiinder

. (D) Cylinder > track > sector
By fuferet > 9% > ¥R

< 3 , 2. Which one of the following is not a
2. fpfeRaa I & HH-T1 TH T H MeR

product of Google?

T 27 |
(A) Android
\_/(A()/ Android
(B) iOS
(B) iOS ‘
(C) Chrome
(C) Chrome
(D) Gmail
(D) Gmail
3. What is incorrect about the features of
3. 9 & O % R F 1 e 7 YouTube?
(A) fafem m%,' (A) Video uploading
By fafe wnfefyg (B) Video analysis
(C) fafed Trwmiifen . (C) Video downloading

J‘
o A (ONPRESULTE

Video searching
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e G

(B) W AR

5.

uuuuuuuuuuuuuuuuuu

4. Most applications of robotic are Useg
area of

in
(A) cooking
(B) manufacturing

(C) teaching

(D) farming

Device which is used in stores to grz...
read universal production code pri-««
on each product sold is called

(A) barcode reader
(B) laser light
(C) spycam

(D) printer

6. Which component of a computef
connects the processor to the othef

aréia 3 S A7 hardware?
\/(/A{ netars (A) Motherboard

(B) #to flo 7o (B) CPU

(€) 727 (C) Punch card

o fn (INDIRESULTE o chi
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7. X fown = Prife +3 9@ S
F AT FTR?

(A) EEam
(B) HaErg
ey TR

(D) wr3™

8. IHuie Bt T U &l hd I e
27

(A) TH HH M & o v g #
G T

(B) o H W-Bifen &
ey e fem W R
(D) I W &= s |

9. gfe A Bt o goar T T 87
A) TR

(B) U Tt
C) =& fi=x (,'/ |
%) INDIRESULTE
L/(BT A Wﬂ ..................
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What is the name of program that
controls the computer system?

(A) Hardware
(B) Keyboard
(C) Software

(D) Mouse

What best describes how an inkjet printer
prints an image?

(A) One dot at a time to form a
character

(B) Spray-printing a character
(C) Striking an inked ribbon

(D) Dropping ink onto the paper

What is another name for a dot matrix
printer?

(A) Impact printer
(B) Page printer
(C) Spray printer

(D) Line printer
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10.

P A Q w-w v TR Rreen a@
R7
(A e

(B) fraw
(C) siu

(D) M@

"

P A A B-m Rma-ger SR
w7

(A) o THo-BH

(B) I

(C) s

By (A) 3K (C) A

12.

13.

o WHo IHMhH HIERER I4 & @Y
FH-T1 Befie Acihed o 82
(A) THo THo-TI

\(B)” o THo -THd

(C) THo THo-YTaTETEe
(D) o THo-THH

(A) TE I8 W
(B) Afam g8 W

uuuuuuuuuuuuuuuuu

s it @lNDlRESULTé

(D) 87 gEi T &

r
H
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'40. Which of the following iS not an operating

1.

12.

13.

system?

WINDOWS
LINUX
DOS

Oracle

(A)
(B)
(C)
(D)
Which of the following is single-user
operating system?

MS-DOS

UNIX

XENIX
Both (A) and (C)

(A)
(B)
(C)
(D)

Which one is the Spreadsheet application
that comes with MS-Office software

group?

MS-Word
MS-Excel
MS-PowerPoint
MS-Access

(A)
(B)
(C)
(D)

By default footers are printed on

(A) first page
(B) last page
(C) all pages

(D) even pages
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14, e T ITM frm FH A TR
PIEA R
(A) WWW
(B) HTTP

_AC) TCPIIP

(D) FTP

(A) www.google.com
(B) www.justdial.com
eJ www.localshops.com

(D) www.yahoo.co.in

16. TH dhAe e T W 3mge o
yoror AR SR H e B
T Yeah T A Bl 7, FEedl 8
(A) T
(B) TS Hi SAFid
) Fien

By EfE

17. TH HOL T S AWAR W G

371 PR T YT gHeAl Ll @, el
2

(A) TR TIH
(B) 2roH BE .
ey e Tum (4,
) INDIRESULT
(D) m{m /(J/voun SUCCESS PARTN

E
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14. The communication protocol used by
Internet is
(A)
B)
C)
(D)

WWW
HTTP
TCP/IP
FTP

—~

15. Which one of the following websites will

give you details of local shops?
(A)
(B)

(©)
(D)

www.google.com
www.justdial.com
www.localshops.com

www.yahoo.co.in

16. A technique in which a program attacks

a network by exploiting IP broadcast
addressing operations is called

(A)
(B)
(C)
(D).

Smurfing

Denial of service
Sniffing
Spoofing

17. A computer virus normally attacks itself

to another computer programme known
as

(A) target programme
(B) Trojan horse

(C) host programme

(D) backdoor programme
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18. VGA 1 I &7 71 87 48. What is the full form of VGA?
(A) Visual Graphics Application (A) Visual Graphics Application
(B) Video Graphics Application (B) Video Graphics Application
\(ﬁﬁ/ Video Graphics Array (C) Video Graphics Array
(D) Visual Graphics Array (D) Visual Graphics Array
rerforfia § SH- < 4 19. Which one of the following is not an
b :ré}% FHH m@m ISl image file format?
? :
A imo (A) .img
(B) .png (7 {0
\)‘37/ g (C) tif
©) .ip (D) .pg
W o
20. 1TB UK Bl ? ol v 20. 1TBisequalto
\\*% \010"\)‘ no
Y‘\‘b ‘ \O(L 3
\ - N 10
(A) 10° GB \w, /, @‘L (A) GB
RS
(B) 10° MB (B) 10° MB
(C) 10° KB /-, (C) 10° KB
@) NDiRESULTE
\9’( 3T Wi (D) All of the above
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YM1—B / PART—B
(1) m=a R=] 1 General Hindi

g1, Fr=fafgs vl # & wR-¥1 W &
YT & T&g-YWeR § Wie ‘qevd e’
27

(A) W
(B) =™
AC) @
(0) &=

22, Pr=fefad =i faswedl § wuH wee & ¢
7 3w 81 T T WU W 3 arened
yeal 1 g8 faees - 272

(A) FH—JASH, g, o681

(B) AM—YSd, U, €A

©) fem—sm, f@r, <
Py i, B, e

23. Preafifad # ¥ S-41 I HS TR

%1 T e A 27

(A)

(8) e

(C) HAA (J/ g
ey wfzm 7¢)\NDIRESULTE

uuuuuuuuuuuuuuuuuu

24, TR VIS % YR T AU % qEad: frdq
R
af A
(B) @M
(C) ¥R
(D) 39 # | 3 AL

25. ‘g 1 &1d H hidal 1 @A FHFAI,
g oft ud % feg 1 3@ 9@ FE
fFg YR 1 FaIW B ?

(A) T wETm
Wﬁwaﬁmﬂ
(C) TEYaTIH T
(D) FfreeRrETEE FeA™
26. Frfeifigd # @ w-w1 a9 Y4 8 ?
S i g e e e
fote =% @t |

(B) 98 3T 991 § 9@ el T, Ygral
T

(C) TR framh & oM @ @ = °

oS @l g

(D) I Tt wEt B
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27. fr=fafga 4 9 gur gy =g’ 1
ICTE0T HI-TT 27

(A) TEl + 3N = "R

(B) W& + Ioqd = HENEd

wey 7 + AW = TEWR

(D) Y + 3Ic9d = TYEd

28. Frofeflaq wrea-dfwal d @ yifadaH
ITSHR FT IS 3

(A) FEfE T TH-Th el
q-eRed gig difg A

By e @t 3, f e A R

ard 2 f5 a2, fe T A R
ardl 21l

g a7 YR 3T T 4 aHe § A
(#)DiResULTE
fopft-firf sfy et T Hisid STEl

uuuuuuuuuuuuuuuuuu

29, 31 @ 3 e =l i Receft W Fieh
37 |

\/(/x)/m: 13, 11, 1311

(B) HA: 13, 13, 11, 11
(C) AW 11,13, 11,13

(D) shAE: 11, 11, 13, 13

30. Rr=ferfea f & HH-91 w8 ‘H ITEIGH
27

(A) 3I=4
(B) 3@
(C) 3TeR

N
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31. Select the correct antonym for the word
'besmirch'.

(A) Honour

(B) Condemn
\—(C(Criticise

(D) Appreciate

32. Select the correct synonym for the word
'‘wretched'.

(A) Shattered
(B) Clumsy

WTired

(D) Miserable

33. One word substitution for ‘A great lover
of books'.

(A) Biography
(B} Bibliography

(C) Bibliophile .é"

YOUR SUCCESS PARTNER

(D) Biblical @'NDlRESULTE

34, Choose the correct feminine gender of
the word 'stag'.

(A) Vixen
\ (B Hind
(C) Filly

(D) Goose

35. Fill in the blank with the correct
pronoun :

Rama and
class.

\(By~ me

(B) them

______were present in the

) |

(D) her

36. .- Choose the correct conjunction and fill
in the blank :

you try, you will not succeed.

(A) Unless
®) If
(C) As

&AB’), But

% F % faw i@/ SPACE FOR ROUGH WORK
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37.

38.

Fill in the blank with the correct
preposition :
He leaned the wall.

(A) above

(B) to

\_(Qfagainst

(D) in

Select the correct passive form of the
given sentence :

You cannot pump the ocean dry.

(A) Pump the ocean dry.

(B) The ocean is dry.

'\_(9/ Cannot the ocean dry.

(D) The ocean cannot be pumped dry.

C:.?/‘j INDIRESULTH

YOUR SUCCESS PARTNER

39. Choose the correct narrat'ion :
Rishi told him, "Your bag Is new."

(A) Rishi told that my bag was new.

(B) Rishitold him that his bag was new.

\(—G/Rishi told bag was new.

(D) Rishi told bag is new.

40. Which is the correct spelling for the word
meaning 'a friendly relationship'?

VGA)/ Rappore

(B) Repore
(C) Rapport

(D) Reppore

C:.?/‘j INDIRESULTH
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(3) A=A T / G

41, TR ESH [TRH | TH-H1y el g &
T TYETd 2 TS 4, 5, 6 A1 8 FH ®
U ¥ et T 8| TUW o1 Teh-81
et T & U, i e |, 9 fe
TR TH-T et < 87
(A) 14 %
@®) 15

ey 16 -
(D) IUF § | Hg T

42. @ 3! I AYAH THUGE T HEAH
TUTIEAe SHHS: 5083 @ 23 2| Afe T

37 391 8, O U 3T T 27
AR
(A) 297 PL 9
(B) 299 _ <L
N god?
el 393 % s m
D) 319
1
a3, LOOBI 5 o i o R
(0016 \'h < o5
JL/%\
(A) (0-75)" \b‘ £
| 65) x ©
By (0-75) }3@ \
C) (0-75) \* 5
( ) =
2 X509
+ D) 1.75 &

eneral Mathematics &=/ 7777 FROEEEE PARTHEE

41. Four boys fire shots from their pistols
simultaneously. After that they fire at
every intervals 4, 5, 6 and 8 seconds.
How many times did they shoot

simultaneously after first shots in thirty
' minutes”?

N,
w4 %
%

} %ovib:(a) 15

5[V T\ (c) 16

\‘L?f \$ (D) Noneofthe above ‘58)/\7

A\

\\ o

X"’ﬁz. LCM and HCF of two numbers are 5083
Ty and 23 respectively. If one of the numbers
is 391, then what is the other number? 5/'-)\

’.i
\

(A) 297 02f 29

A

. (B) 299 ?'\., : < 0
o gelEYes gD
5ef¥ T
(C) ,3%0 \51‘\{26
o) 319 38 W
.\ 690"
43. Whatis the value of (0280 5
(0016)4
A . -1
® (0-75 13 XD X
(B) (0:75) 23x3
%)

(D) 1.75

WE5U”5@ a7 % fore SITe | SPACE FOR ROYGH WORK
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44. AF T Fi o Hifdu, FEi

uuuuuuuuuuuuuuuuuu

44. Calculate the value of A when

_257° 5% A_25‘3y_5_"’_
g'f\o‘g - 506 g2 . T 56 .52
%‘.'Lg (A) 1072 T2 X 3; ‘e (A) 107
50 v R
\/(7 n P ’ \ ]
(B) 107! 5 5(/ 5/9 (B) 10
4 el
(C) 10 ,ng; ! 0?0 (C) 10
\/(5(102 ; (D) 10

45, 35%@11&&?4’?3‘%@%9511&%@1%’@
3|a 3 17 a9 R 3T Han F wan

fereren en ferenfft 6 sitaq amy 18
2, @ frers i sy 2 - NN
\
A 53 z%
NIy ? g
(8) 55 ad T
«\&
(C) 519 - 4/; %
. . bt
(D) 394 H & B3 T o 6
)
; 253
46. uﬁ@ﬁéﬁm;umsd%ﬁﬁ,
a1 21 BT ST I A F TR T
o ? ot
5 g 43
(A) 5@ 3 73
. 9y <~ 1
(B) 6 H2 -
© T (#WDIRESULTE

45. Inaclass of 35 students the average ag:
of students is 17 years. If average ag:s
of students and their class teacheris 18

then what is the age of class teacher?
(A) 53 years

(B) 55 years

M (C) 51years
(D) None of the above

L

e 4 i
46. If awatertank is filled - partin 8 hours,
then what time will be taken in filling
. the half of the tank?
Lo ,

=~ 3 (A) .5 hours

}?’,\,\\ 1\

{ 2 (B) 6 hours
(C) 7 hours

q

\,(ng'a'?

(D) 3 hours

% &1 & fau w8 / SPACE FOR ROUGH WORK
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47. :a—i—_:%r—c—)x-cwmm%?
I
a(c - b)(-c) | b/C
a(c-b)c }«(O“ ‘
® “avp
Y\)ﬁ(a(b-c)c
a+b
(D) 37 H | HE T
48. IR TH fog AR 12 fifre & arawer °
20 fepotfto/ee it =1 & ITRE F<A 7
Rfia fem % fog B @ w =t weeht

FR F 1Y T TR HA 71 ARG 98
2 R ¥ 10 fime & atue ° e

%,ﬁ@%ﬁﬁw%w‘.
(A) 4 fRorfto wfy ger W

47,

—ax(brr) oy

What is the value of =",
a(c - b)(-c)

(a - Db)
afc-hc

a+b
a(b-c)c

a+b
None of the above

. Two cars start from point A ata speed of

20 km/h at an interval of 12 minutes.

' What is the speed of a man coming from

a point B in the opposite direction if he

q%\v\\‘heets the cars in the interval of
5\

10 minutes?

i
ﬁf‘“ (A) 4 km/h

: \‘L’ 10) (B) 5kmih
By 5 Frorfio uf = 5 7(,10)\‘/0 (C) 6km/h
(C) 6 fepotio wia = \2/@9,26)" (D) None of the above
(©) § PR T 49. If a:b=3:4, then whatis the value of
49. qﬁ a:b=%:?4 %, ar a2+b2:(a+b)2 \,oﬁl a2+b2:(a+b)2?
T A 1R N wod :
(A) 16:25 b S TR A
(B) 9:16 ot (B) 9:16
25: 49 @ b) (C) 25:49
(D) 39 A | HIE Tl (D) None of the above
50. T mﬁﬂﬁm oE TF aTETR T SATE, 50. Diameter of the base of right circular
10 9 YT IFH FEATH S8 1289 solid cone is 10 inches and its vertical
2, 38 TF * Tadl 8 H &GS height is 12 inches. Then what is the
a2 surface area of the cone?
(A) 1557 = abX b(l-% ab | . (A) 155 inches
\UBY 155 T ¥4 . BRTY (B) 155n square inches
- . ' (C) 90r inches
(C) 90on ¥ %) INDIRESULTE
(D) 90x @ 3 /~J """""""""""""" (D) 90r square inches
o % %1 % fore smg / SPACE FOR ROUGH WORK
h ¥ 25
N e\t glagt, o St
7 — .
‘Lg"ﬂ b (B ) - indiresult.in whatsapp - 9352018749
O _a
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(# WoiResuLTs
A number when divided by 171 giveg

———r e e —— 4 - = ’; = 51. .
51. 38 &&= =& jm 171 8 4971 T?'Il ':‘TT?T 2, remainder 40. If that number is divideq
= FTE= 40 21 2 .afa 36 T 1 19 by 19, then what will be the remainder?
(A) © sk i
(B) 1 ?) oY S
AL 2 N 4 4
o o (D) ¢
52. TET 201370 B SE S OUH W 52. What will be the digit at unit place of the
e e number (2013)*'??
(Al : go4
A 1
®) 3 N %?j e
3 o //\ ® 3
BT 7 xax3 B i
= y (D) 7
3
53. q2317* 10224 @@ ' 53. What will be the common factor
((213)'2% - (120)12% of  {(231*+(1028%  and
T TEEE EETE 4 A {(213)'% 1 (120123} 7
(A) 333
- - (A) 333
- (B) 222
ey 123
(C) 123
(D) 234
(D) 234
54. 72 =R-31 598 72 5e 2 Taos Sy
e S i ‘?‘m 54. Whichis the largest number which when
1,‘,., U3 2175 F1 971 74 W HAS: 3 0 divides 1553 ang 2175 gives respectivel
53T 337 o 3and 5 as remainder? pesiey
(A) 21 4% ®ab -
(,B-; ’)7'0 ‘gfgsc) '2"256 Sgokq’ (A) 31
. . 0 V>N 0 ¢ (B) 370
© 15 (g \Yog) b
oy 2o GWOIRESUETE MNP ) g
= (D) 310

% ®E % fqu wmg /S
P | PACE FOR ROUGH WORK
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1 1 y
5. 3—+3{§——+333 +333§——
; ¥R 33 3%~

1
+33333 —3 =

3

5
(W) 33333

\ (B 5
121

C) 12345—
() 3

(D) 3703513ﬂ

56. Ifc x*y=2x+5y, 9§ 35, 5x3 @
fram T 82

@) 2 gLy = 2n¥5Y
‘ - 34‘5’(5
®) 4 B A |
= 3
\% © Tx3 —9x5+ 5x3
(D) 8 - 1o |8
25

57. < T # ¥ ugel % g % Wiy ggll
¥ dF T W et W 1200 ITF BT B

55.

56.

57.

@lNDlRESULTE

YOUR SUCCESS PARTNER

1 1 1 1

3

+33333 L

35

5
(A) 3333355

(B) 5
(©) 1234513ﬂ

(D) 3703513ﬂ

If x*y=2x+5y,then how much 3x5
is greater than 5%37?

(A) 2
(B) 4
(C) 6
(D) 8
From two numbers, if two times of first

number is added with three times of
second number it becomes 1200 while

! Tgelt < 9" A H 8 qEl 1 dE from five times of first number if three
TR 9 900 UTH 2 99 Ml times of second number is subtracted it

ﬂ,:n i ‘@Rﬂ N becomes 900. Then what is the

@A 1 3Tt fha1 27 difference between the two numbers?

(A) 200 200 R (A) 200

(B) 300 .é (B) 300

© 100 (% HNPREsATE -

(D) 500 (D) 500
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68. Sum of five consecutive numbers s gy

58. aia seATTA wEA H A 55 8 Al while sum of seven consecutive numb,
gTd AT GENA @ qm 77 R T is 77. Then what lsflf:’o d;‘f{o‘tmnc;) of thy
e ud aat avf) roatest number of the Tirst serles ang
fgj;ﬁ;%m =) 82’( ;am’:? wWF 7 the smallest number of tho\‘(:hocorm
GET 1 AR AR 4y 087 )
v \'f“ . 'T\ "~ 5
A R BV M g
(B) 1 * x\o 7 A (- sy %"
A4S 13 5T e 1bd ® 157
N - XV e 3
NS b s, )
W =)
D) 8 A
59. TF X A @ B a% 120 fho o wfa ©) ¥
gzl H MY A SO R AU B H A TH 59. A car goes from A to B from the speed of
80 fpo Mo wfy wver < nfy @ e B) 120 km per hour and returns from B to 4
X IgH 3 7y by 80 km per hour. What is its average
Hu{\uf ;?ﬁn ﬁ:m L speed for total journey?
. Lo (A) 100 km/h
(A) 100 o o /auer 90
N 00
LEX Q0 (B) 200 km/h
(B) 200 o o /guer > ® \
a0 ob  (C) 96kmih
s 96 fFo o /aveT /L 749
b ﬁ‘} (D) 48 km/h
(D) 48 ko o /TveT \/
60. In the mixture of 35 litres, ratio of milk
60. 35 efier fygror # gy T U 1 IFIT a}r:d \Il\cl’atet; is 5 .'é How:vh rr:utcr:jh wa:gr
, shou e mixed so that this ratio
512%|Wﬁm;ﬁ3ﬁimm becomes 5 : 3?
fop 7 3rquTa 5: 3 B WC? '
(A) 10 litres
A) 10 & g
(A) 2 . “\/(ﬁ ) .
. (B) 25 litres
(B) 25 wfix G S ;{ﬁ)
- ,\00" C "
\JZ)/SFﬁZ'{ /_ Yoo (C) Slitres
' %) INDIRES(LTE)
(D) 12 ey A=A e §%\wqu6 (D) 12litres
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61.

V(a;/4%a:xﬁ

62.

63. freht ag 1 %a Tpy 39 &g o foska

8¢, 2
el 2=% (o)
5
(D) 3%% 35
\XHo%” 29 o
o5 7

_ (‘)3 4, X2
\/@K{ 500% . A2
(B) 250% ' L
. y XE
(C) 80% / < Q Y X
9
(D) 96% @ INDIRE §H!—,_Tﬁ,§{ T
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afe, fereft 3T < T § 20% iy
e 9rets o 20% H F w & e, @)
U A % &I ¥ grfl

~d

= 9 Q)/J)

A ' 'R
(A) 1% 20"("’0 9P

-

€) 4% (&

(0) % T 3G

& Atk O Hat T 100 § 60 H W A

@liiest T 120 § 70 1 < & S=at Bl
IGH A % feraT 87

T
(A) 20% *ﬁ/ 3

- LT
® 7% Y MR

T & 20% & a8 fasha Iea s 0l
1 fera e 27

61.

62.

63.

uuuuuuuuuuuuuuuuuu

If in a rectangle length is increased by
20% and breadth is decreased by 20%,
then the area of new rectangle will be

(A) 1% decreased
4% decreased
4% increased

(D) Neither increases nor decreases

A person purchasing some oranges at
the rate of 60 in ¥ 100 and sells at the

rate of 70 in T 120. What is his profit %72

(A) 20%

(B) 7%

6

©) 2%

5

() 3%

Cost price of an article is 20% of selling

price of that. Then what percentage is

selling price of the cost price?
(A) 500%

(B) 250%

(C) 80%

(D) 96%
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64. WYE um Enor AR 2 A 10 gl 1

65.

66.

o @ omen R, @ fieen add i am A
T WY SO ?

(A) 20
(B) 30
(C) 40
(D) Iwfer # & e T
freft fafeera =rafy =a /@ @ @ € 500
R vraf 6 aul # grht @ wh 2, @
24 o wrg 78 fopah @1 St 7
O\
¥ 8,000 PR,
el b 76
(B) ¥ 6,000 R
(C) ¥ 2,000
(D) ¥ 5,000

e fmbdsa/llmg, @ Za+£b="?
° 130°
<120ﬂ/‘ \ y
Yy

L2
¢ b >m

< J t\‘
(A) 95°
(B) 180° .
il (#)NDIRESULTE

64,

65.

66.

uuuuuuuuuuuuuuuuuu

Some amount doubles in 10 years at the
rate of simple interest, then in how many
years it will become four times?

(A) 20
(B) 30
(C) 40
(D) None of the above

At the fixed rate of compound interest
# 500 doubles in 6 years, then how much
it will become in 24 years?

(A) ¥ 8,000

(B) ¥ 6,000

(C) ¥ 2,000

(D) % 5,000

In the following figure Za + #b =7, when
I||m:

.
120 f \1\30 y

>
¥

p
~

(A) 95°
(B) 180°
(C) 360°
(D) 215°
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67, AB=18:2 Ho Mo T DE =13 R0 o
au AABC ~ADEF . afq ADEF #)
e 50 Fo Hto R, A AABC %1 ufmm
1§ ?

(A) 50 ®o o
(8) 70 Fo o
() 110 Ho o
(D) 125 o Hlo

68. T QS il TAF S 39 Fo Ho
21 afe 3wk & fawel Y enard
72 Bo Mo A, A gH1 fareputt Y wrvarzal
&1 3= o B2
(A) 30 To o
(B) 36 o o
(C) 42 To o
(D) 102 To o

69. HTY % & Th TATH 1 WR 500 fho o
21 afe saeht weft famati =61 g 6 fema
1 20% L feIm Sme, @ 7T gA™ HHR
fepamn g ? ’
(A) 4 o Mo '
(B) 8 fho 7o ' '
(C) 10 fepo 7o ¥

/
(D) 125 f%o Mo /

0. 3 GrEd e % wad F See B
IUTE 7 : 5 AT =gl 1 I 3¢ 1
1 99 T TR 1 AT TR B e

(A) 143:225 .

(B) 225:143 > i

© 221 (FYINDIRESULIE
O 37 i & wE T

67.

68.

69.

70.

iiiiiiiiiiiiiiiiii

AB=182cm and DE = 13 cm and
AABC ~ ADEF . If ADEF has perimeter
50 cm, then what will be the perimeter of
AABC 7

(A) 50cm
(B) 70cm
(C) 1M0cm
(D) 125cm

Each side of a rhombus is 39 cm. If length
of its one diagonal is 72 cm, then what
will be the difference of both diagonals?

(A) 30cm
(B) 36cm
(C) 42cm
(D) 102 cm

Weight of a cuboid made of metal is
500 kg. If all its dimensions are made of
20% of the dimensions of previous one,
then what will be the weight of the new

.cuboid?

(A) 4kg
(B) 8kg
(C) 10kg
(D) 125 kg

Ratio of surface areas of two hollow
cylinders is 7 : 5 and ratio of heights is

3:1. Then what will be ratio of their
volumes?

(A) 143:225

(B) 225:143

(C) 25:21

(D) None of the above
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wM=C | PART—C C-;’/amnmssuua

(1) gL WA Qv / Genoral Mental Aptitudo
Find the missing number In the following

X . Ak 7.
71. Bl A R @en g Qb square
N N S W | 4] 6
27| 22| ° 13 oy = . 13
54 | 18 | 44 | 9 1T 18 | a4 | o1
36 31 19 o5 16 31 10 5
(A) 81 A 8
(B) 28
(C) 18 (B) 28
(D) I & ¥ I T (C) 18
(D) None of the above
72. afe 0 = Frefa fHn S R 0000 @,
11 0001 &, 2 H1 0010 &/, 3 H 0011 72. 110is represented as 0000, 1 as 0001, 2
¥, 4F 0100 |, 5 5 0101 ¥ 3R g "as 0010, 3as 0011, 4 as 0100, 5 as 0101
' : . and so on, then find the missing number
SR 3w oft, 7@ fre i 7 gH 9 in the following square ;
. T RIS
5 L 51001 6070 | 1007 660 0100( 0010 [ 1001
Q 0001| 2 |otmo| O . sof ooo1f 7 [ o010
Va0 0111] 0101 0011
0111 | 0101 | 0011 a, k \ |
0
(A) 0111 B 1000 3°|¢ °\ (A) 0111 (B) 1000
¢ O
(C) 1001 D) 111 N N , (©) 1001 (D) 1111
f o
40
. « Y 0 « b‘
73. 3R+ WW%'+ ’ —,WW% b 73. If*+'means’.' '~'means’\’,'«' means
IR wm AR Y '~'and ' ' means '+, then
™ /'. 6+3+5-4x6=
6+3+5-4x6~ () INDIRESULTE
/ YOUR SUCCESS PARTHNER A 2 ")
(A) -22:2 (B) 18 (A) =222 B) 184
Oy 16 (D) 25 (C) 186 (D) 25
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! X}

74, B # @ w-m w RIE (7) B

yfereenfa sam?

A\

Y
> ([>® 2
A
N4

(A)
AP

75. Fifed Yo % ot Fom  faegad

76.

HE&AT {d HITT :

b Dy \T

AVATAV

24 \BS 15

(C) P (D) 18
%aﬁ Bwﬁ% A -
3T ?
(A) E il
€) D D4

@) woresue

74.

75.

76.

’ RRRRRRRRRRRRRRRRRR

Which of the followmg will replace the
question mark (?)?

)

%
(A) \‘[%‘ (8)

From the following pattern, find the
number of dots in the next figure :

AWAYFAAY

(A) 24 (B) 15
(C) 12 (D) 18

Using the following figures, find when B

is at the top, which letter will be at the
bottom?

@
&

(B) F
D) A
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v oov
. ' ¥4l ¥\\ ‘r g1 X
/(’/’"%( (3‘ \o\l \ Y) T 2 77j&[:ind the Ie'tters at blank spaces of Y

o ~ b h Y . SR s S A
77. Famfefen -3 fow 2 & 0 following letter series
Fa Aq =.;:1:=.Q : E K. G M. M
E.K. G M, Q. M, —
(A) LN
(A) LN
(B) S\W
(B) S.W
() LU
(C) LU
D) K, S
LK. S 2
T R 78. Which of the following is different from
78. Fr=feiiga 3 § ®H-91 3 o § 9= the others?
- Kolkata, Mumbai, Allahabad,
FITHAl, TH3, SARER, feaTagd Thiruvananthapuram
(A) Ficiwmal (A) Kolkata
(B) =% (B) Mumbai
(C) zcerElg (C) Allahabad
\}Df fasaa<g™ (D) Thiruvananthapuram

. i Suft & ﬁ@q e I 79. Find the missing number in the following

number series :

1,3,6,5,7,10,11,13,16, 21,24
1.3,6,5,7,10,11,13,16,____, 21,24
A) 17 (A) 17
(B) 19 (B) 19
o 15 (& C) 15
© 15 (FINDIRESULTE ©
(D) 94§ & FI T (D) None of the above
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L = (#)npiREsuLTE
i - 37T m, S A= 80. Which of the following will be next letters
&0 P §h-a « 31&1(3’!”! in the letter series given below?
fea TTu ateR-Soft # 3 &7
BCDFHIJ
BCDFHIJ
A) LM
(A) LM
(B) MN
B) MN
(C) KL
C) KL
(D) LN
ol L
81. Find the missing figure from the answer
g1. I f3 ¥ faem f wm Hifv - figure :

A = W= Problem Figure Answer Figure
1A 23 C_ 3D _4Cc 4C 4 a2 3 | [c_3p_ec EC :
57 B ‘{E4Cé ? \ c§ Dﬁ D\< zAf BO cA 2 !300/43 c| 01 o
Ay ol o (/7] , Ol o /. . et 9 = =
- A3 B | a3 3

1 2 3 4 1 2 3 ¢

A1 (A) 1

B) 2 B) 2

C) 3 ©) 3

B) 4 (D) 4
82. af ‘BADMINTON' I Feag forar mn 82. If 'BADMINTON' is coded as

2 ‘CBFOLQXSS' ¥, 9 ‘FOOTBALLS'
F Feag e ST p:f

(A) GPPVECPQX
(8) EPQWEEPPX
(C) GPQVEDPPX

__ (D) GPQVEDPQX

C’Z‘//) !NDIRESLJLTE

OUR SUCCESS |[PARTNER

'CBFOLQXSS', then 'FOOTBALLS wil
be coded as

(A) GPPVECPQX
(B) EPQWEEPPX
(C) GPQVEDPPX

(D) GPQVEDPQX
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83. a2 ‘GORAKH' FI Feag fban mm 2
‘769128" ¥, ‘SHYAM' &l Feag foha
T 2 ‘18714° 4, @@ ‘KRISHNA' i

(-"/: INDIRESULTE
%7

YOUR SUCCESS PARTNER

83. If 'GORAKH' is coded as '7691y,
'SHYAM' is coded as '18714' the,
'KRISHNA' will be coded as '

(A) 2981851

Fzag & sEm Al

(A)
(B)
(C)
AD)

2981851

2991851
2891861
2990851

29908

85. It fomr 3§ facqm fom 7@ il
u7a = sm o=

r
]

(B)
(€)
(D)

2991851
2891861
2990851

84. Find the missing figure from the answg
figure :
Problem Figure Answer Figure
©
Robi (& | LR EE
1 2 3 4
A 1
(B) 2
(C) 3
(D) 4

85.

Problem Figure

Find the missing figure from the answer
figure :

Answer Figure

I

|

{ | |
! " i i SO R UNAOYAOTR
gumu.’ !4--"!; .2‘ _4‘_“

88

4
h e

T

W E N

1 2 3 4 1 .~2 3 4
(A) 1 (A) 1
(B) 2 /" (B) 2
9
© 3 (#)INDIRESULTE s 2
) 4 ) 4 L
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# INDIRESULTE
(2) 9T TH / General Knowledge Q‘ﬁ """""""""""""""""

g6. ‘ENa wifa’ ¥ frm wreftw wurmeh =1
I ST a1 27

(A) o T WEIGL W&
(B) o gfew wieft

ey o wrwstt T
(D) Wo w1 Ua

87. “‘FN WA N 3w 21" I® wuw Fee
femm B2 ~

KJ  do AT HEE
(B) sfiwelt sfewr wiieft
(C) Tfo AR FEA

(D) wgTenT Tieh

88. wia ¥ faeh fafma wemem arfufram

(%) e e TR
(A) 1973
(B) 1991
\(CY 1997 /'.
%) INDIRESULTE
(D) 2000 @ ..................

—

86.

87.

88.

Which Indian Prime Minister's name is
linked with Green Revolution?

(A) Late Lal Bahadur Shastri

(B) Late Indira Gandhi
(C) Late Morarji Desai

(D) Late Narasimha Rao
"Agriculture is the soul of India.”
Who has given this statement?

(A) Pt. Jawaharlal Nehru
(B) Mrs. Indira Gandhi
(C) Dr. Zakir Husain

(D) Mahatma Gandhi

When was Foreign Exchange

Management Act (FEMA) implemented
in India?

(A) 1973
(B) 1991
(C) 1997
(D) 2000
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89. U eyt Wifien v vaw areyl w@eedren

91.

afody €, s

V“'«(va

(B) 3., Y™
C) I, P

(D) Y3, 3=
90. T A1 1 A1qgin (1) Brg w il

HTT B?

(A) HIEH T q19Hy
(B) sl foreor w1 qimded
(C) wmremm Y yepfa va wiferes srawen

(DY I wf

I STEAT

1. g
., AatmEm

v, aifsam

A) lI<lll<IV<]

(B) H<l<ll<IV

©) Ni<i<iv<l (.'/

\-(‘B)/lv<ll<lll<l
indiresult.in whatsapp - 9352018749

fr=r argati ) s | Sremefierar 3 snum
9 Fgd 3 | Fafeya Hif

RESULTHE

55 PARTHNER

90.

91.

OINDIRESULTE %

YOUR SUCCESS PARTNER

89, Theresistances of an ideal ammete, ang

an ideal voltmeter respectively are
(A) zero, high
(B) high, zero
(C) zero, low

(D) zero, infinite

Refractive index (n) of a mediunm
depends upon

(A) temperature of the medium
(B) wavelength of incident light

(C) nature and physical state of the
medium

(D) All of the above

Arrange the following metals in the
increasing order of their reactivity
towards water :

. Zinc
Il. Iron
I1l. Magnesium

IV. Sodium

(A N<lli<Iv<]
(B) li<l<lll<IV
C) M<lt<IvV<l

(D) IVv<il<ll<I
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92. @-lﬁ@;llﬁg&%ﬁwﬁmm

& g ¥ TEl IW T9h| IR
T—| Tt
(a) I wE foge 1 wetem W (1) oy
(b) waif g S e urg (i)
(&) atfus Jmardas urg (iij) @
(d) F=0 F1 AT AeTH (iv) fafem
(€) W& Fewhrurg (v) &
HS :
(@ (b) (o) (d) (e
A v v i i
B) v v i Qi
ey v i i i v
O i Wi v v i
93. HI-Y U ool w1 g =iy

Shfe BT B 7

(A) MgSO,, Na,S0,

(B) CuSOQ,, (NH,),S0O,

HE

iiiiiiiiiiiiiiiii

(D) CH,COONa, CH;COONH,

92.

J‘
(#WoiREsULTE
Match List—I with List—Il and select

the correct answer by using following
codes :

List—I List—II
(a) Best conductor of heat (i) Aluminium
and electricity
(b) Most abundant metal (i) Lead
(c) Most malleable metal (i) Gold
(d) Poorest conductor of (iv) Lithium
heat
(e) Lightest metal (v) Silver
Code :
(@ (b) (c) (d) (e
(A) v v il i i
B) iv v Ii i fii
C) v i i i v
(D) i i v v i
93. Which pair of solution of salts is acidic in

nature?
(A) MgSO,, Na,SO,
(B) CuSOQ,, (NH;),S0,

(C) BaCl,, NaCl

(D) CH;COONa, CH;COONH,
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94. TFE R ¥ =@ =<t ufr ] 94. Largest gland in human body is
(A for (A) liver
®) (B) pancreas

| Vw)/ﬁzﬂ'eﬁ

(C) pituitary

(®) (D) thyroid

95. Al &0 (aTeT) Vool gl @

95. Most green algae live in

A T e
(A) 'freshwater
B) TR w5 d (B) deep sea
1 (C) =EHtaed (C) rocky coasts
(#)WoiResuLTE
(D) ™ 5 F I H (D) hot springs
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96. =1 d @ F-3 7 &+

97.

I Tgufd v fates qvea g Patfm
g R
. fates qea 3 goe & Paifm

3 B R

n. fRates qvega 1§ usg fRurmvea ¥
Fraifaa se= 3 2

Iv. Tgefa 5 99 & for Fratfm g R

V. ANIqERIeT H Ugate o Rl ser
SIk:C

VI. TSI St AR 1 ITepfde AT

2, Ugaf &1 TH19 g gt 2
Y

® I m v
© nm oW
() N R [ RY,

= 4 & Fh-ma 9 2R

I 39 A % <Ry 6 e
qEgfa gra <l ATt 2l

Il TEUld, 9Rd & g < 3
QU SR 3= R & i
& frgfs e £

. wgafa, T % TsAaTe | off w
X Bl

IV, yafd, I 2TECH % J& A
& oft qumed B

(A) |

(8) 1 Il

(C) 1 1] ]| 6//0 |ND|F
© 1 nom

YOUR SUCCESS PARTNER

OINDIRESULTE

96. Which of the following is correct?

97.

{ESULT

Cisl PARTN

I. President is elected by electoral
college.

Il. Electoral college consists of elected
members of the Parliament.

Ill. Electoral college consists of elected
members of the State Legislature

IV. President is elected for five years.

V. Tenure of President can be extended
in Emergency period.

VI. A person who is natural Indian citizen
can contest the election of President.

A 11V
® I v
© nm o
© 1 I WV

Which of the following is/are correct?

[. A Judge for High Court is appointed
by the President.

Il. President appoints a Judge for the
High Court with the consultation of
Chief Justice of India.

lll. President also consqlts with the
Governor of the State.

IV. President consults the Chief Justice
of the High Court too.

(A) I

® 1

© o
) nmwv
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indiresult.in whatsapp - 9352018749 05, A ciizen of India wants to contest t,

98. I T TH AT faum |1 <1 I election of Legislatiy\/ehAi:‘inggL); but b
. T TEdl 78 fgpa fort 1 2 is of unsound mind. Who are thy
' ﬁiﬁ?ﬂ% Toeh! ETE S he is of unsound mind?
ag faspd 1 T,
UM ? (A) President
(A) Tgdfd | (B) Governor
o (C) Competent Court

(C) T AR

(D) Chief Medical and Health Officer
(D) T Tfpean ofR e st

99. A bill having been passed by the
Legislative Assembly and sent to

il 8 ’ m & w fo Legislative Council. In the meanwhile
T 3T 1 |§ﬁ EEIREIR S Legislative Assembly is dissolved. What
Ryar @ fafeq 81 8| I T gAY will happen?

(A) f9as =T gl W (A) The bill will be lapsed

i (B) Ifitis passed by Legislative Council
(B) Rl q; feremr aiwg, g g it will become law
T, I8 SR S ST
(C) The new Legislative Assembly wil

(C) % foum A1 ¥ W gAfem St reconsider on it

(D) Tg g <t Heia feram e (D) It will be referred to the President

100, T & T 2 ver F TR 4 27 100. Which Calender is recognized in India?

(A) T Tgaal Heiust - (A) Babulal Chaturvedi Calender
(B) WA FHeivet (B) Gragorian Calender
(C) W SHeivst . (C) Indian Calender

\—(D{ fersprft FeTuet @INDIRESULTE (D) Vikrami Calender P
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YOUR SUCCESS PARTNER

101. afau™ & fag I ' IeuHETR ¥ 101, In which Article of the Constitution, the

%INDIRESULTE

%ﬁ’l H1 TET yaaig %? 'protection of interest of minorities' is
' provided?
(A) 3= B¢ 27
(A) Article 27
(B) 313‘%% 28
(B) Article 28
(C) 313,’:‘@6 29
C) Article 29
(D) 3?3’63& 30 =
(D) Article 30
102. TSI HY1 & ITEWNRT A1 Te=qd & &
fowa o = @t 7 f 20 102. What is not correct about the removal
of the Deputy Chairman of the Rajya
. STE, TOe + Rt oft geq & yrey Sabha?
fera < Trepan 2 |l The resolution can be initiated in any
House of Parliament.
I S, =ieE i i gl g w g |
fopaT ST geRar H Il. The resolution can be moved after a
prior notice of fourteen days.
. TEE Fiftd 3 F *
i . F fere we : lll. Signature of 1/4 members of the
1/4 GCEAT T TEATE HEITF 2 House is essential to introduce the
_ resolution.
IV. Y€, 9cT & dohleid g9e&l &
¥ qifE B =R IV. The resolution should be passed by
gHd the majority of the then members of
v w ¥ o 3k the House.
HH 9/ =l & SgHd | uTita V. The resolution should be passed by
2 STy the majority of the present and voting

members of the House.

@1 oV
A 11V
® n mowv B) 11l IV
(€)1 m v . (C) I Vv
©uw m Vv %!NP.'BE§HET.E; ) nmyv

b ST
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103. f=faRea # & frg Afes vy & qoe @
TR Yash T8 ek & drTeres fife - R
Us g&hR il fp e @7
)
(B) Tz
(C) e
(D) fafre g=

<& o Trferfed § @ e e @ =t
el Tafia oft?

(A) ST

(B) TeThieT

\AC] IR

(D) R

104.

105. fr=fafaa 3 & forg &= o grrert = wRd
Geha sl gaiftres e fear 27

By T
(B) TFa=epen

uuuuuuuuuuuuuuuuu

(©) gféaen %INDIRESULT%

(D) =

103. Inwhich of the following Vedic Works 1,
social rituals and sanskarag f;-o
conception to cremation have bee
described? n

(A) Dharma-sutra
(B) Grihya-sutra
(C) Shraut sutra

(D) Vishista sutra

To which of the following kingdoms o
the Deccan, Chand Bibi belonged?

104.

(A) Bijapur
(B) Golkonda
(C) Ahmednagar

(D) Berar

105. In which of the following spheres, the

Mughals have greatly contributed to the
Indian culture?

(A) Architecture
(B) Painting
(C) Sculpture

(D) Dance
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106. WETE M g1 wafd Praffed § @
fFg QoM & FER W 3 anfh &)
i fmg efi?

(A) TR e
(B) WS JEreH
(C) 3TgHCTETe et gt

D) TREIEA e

107. TSTUTHI SAHTGRT & Tet W fegt & yew
F Y 0 9 Thg IETE WO S
a1 417

(A) TS HoiA

(B) wie ferferm
(C) s fiyar feefi=
(D) @S grisa fgefta

108. 1929 # =91 & frem ‘G TagHATR
T 1 w9 i At ?

(A) @M 3Tsge THHR Tl

(B) weirT ArgEg et .
©) e wem s (FINDIR

106.

107.

108.

ESULTH

iiiiiiiiii

uuuuuuuuuuuuuuuuuu

In which of the following Movements
spearheaded by Mahatma Gandhi,
Sardar Patel played a leading role?

(A) Champaran Movement
(B) Kheda Movement
(C) Ahmedabad Mill Strike

(D) Bardoli Satyagraha

At which of the following Viceroys a bomb
was thrown at the time of his entry into
Delhi on the occasion of transfer of
captial?

(A) Lord Curzon
(B) Lord Linlithgow
(C) Lord Minto Il

(D) Lord Hardinge Il

Who of the following founded the 'Khudai
Khidmatgar' organization in 19297

(A) Khan Abdul Gaffar Khan
(B) Maulana Mohammad All
(C) Abul Kalam Azad

(D) Maulana Shaukat Ali
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109. W@ @) T ¥ uyyaEr g0 @ e
e’ ey faean ey

(A) arErl Fuer
(B) e T 4

Oy mErd e v
(D) =T w
110. THE P % SHF I 87
NS
(B) A HTR
€) Fem & &t s

(D) StH |

114. am=a gE Fefaied # @ fra @fw &

fere wftrg 87
\W/ giferam
(B) HI .
© @ G;//O!NP.'!?EW!:T,E
(D) dieErse

109.

110.

1.

uuuuuuuuuuuuuuuuuu

Who of the following had initiateq the
'Bhudan’ Movement after Independen,
of India? )

(A) Acharya Kripalani
(B) Acharya Narendra Dev
(C) Acharya Vinoba Bhave

(D) Acharya Karve
Who is the father of Human Geography?
(A) Friedrich Ratzel

(B) Karl Souwer
(C) Vidal de la Blache

(D) Jean Brunhes

Bombay High is famous for which minera
from the following?

(A) Petroleum
(B) Coal
(C) Diamond

(D) Bauxite
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112. ST S8 R

(A) g™

13. freTe seaTd Wi Rew 3w % wem @
T g3 B 7 |

(A) To S
| B) ferem
(C) %™
\A0) @ifdwa &9
4. Hiemrire ey vt Fmfor fopm 7 W EAT R

(B W
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112,

113.

114.

%INDIRESULTE

uuuuuuuuuuuuuuuuuu

Plantation agriculture is
(A) paddy

(B) wheat

(C) jute

(D) tea

Bhilai Steel Plant was established witt
cooperation of which country?

(A) West Germany
(B) Britain
(C) France

(D) Soviet Russia

S_ikaser Dam was constructed on whic
river?

(A) Sodhur
(B) Mahanadi
(C) Hasdeo

(D) Pairi
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118.

116.

117. wrda arfeaen ¥ fedias &= | 51

fft w1 Frare- 8w el R0
(A) F=m

(B) Madvg
(C) SRR

(D) wFHFEH

fve ¥ SoEE = e vy =t e

fea R7
(A) 33
(B) 63

(C) 133

\45{ 163

e =@ foea T 27

N

(D) WA VA IaTH C’:’O!NP.'E‘E?L

115.

116.

117.

LT

(D) Mining and quarry

nnnnnnnnnnnnnnnnnn

Where is the residence area of Pygmy?
(A) Kenya

(B) Greenland

(C) Zaire

(D) Kazakhstan

What is per square kilometer populaticr
density of the world?

(A) 33
(B) 63
(C) 133
(D) 163

Which is not included in secondary
sector of Indian economy?

(A) Manufacturing
(B) Electricity

(C) Construction
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118. What is the decadal growth rate of

TS i WhHE qﬁg TRTR? population in Chhattisgarh during 2001

to 2011 period?
\}a/ 24-23 gl

(A) 2423 percent

(B) 19-7 wfawa
(B) 19-7 percent

(C) 22-61 Wiawa
(C) 22-61 percent

(D) I ¥ & S T

(D) None of the above

19, = 3 & fRl i s e o 2
» 119. Which of the following is called the
(A) Eehel BT ITE h! g ' 'National Income'?

(B) W< Eﬁﬁm £ Frog _ (A) Price of gross domestic product

(B) Price of net domestic product

(C) W& TEA I
(C) Net national income

(D) Tt TEH A=
(D) Gross national income

' : sl H A .
120, v frie o fF8 120.  Which period is called 'plan holiday’ in

HATHE HT AT 87 Indian Planning?
(A) 1966-69 I Al  (A) 1966-69 period
(B) 1978-80 1 Il (B) 1978-80 period
g (%) INDIRESULTE
e x A sl PR (D) None of the above
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wzat / Current Affairs C:?/'j |NDI RESULTE

ard winner of 2018, Manik,

S . Arjuna AW ,
121, 2018 W S feeR 12 Ba:tra is related to which sports?
%1 gy f5E T | R? () Table tennis
(A) e 2w (B) Lawn tennis
'GTF{F : i (C) Cricket
= ST (D) Hockey
(D) . '
122. 2018's Jnanpith Awardee writer Amitabh
122. 2018 S IS TR SITH T S " Ghosh is a writer of which language?
?
a‘m%%:nm%é@m%. ), Hind
(A)
(B) Dl (B) English
\/QC{ UL (C) Bengali
(D) BRT (D) Assamese
423. 3o Hlo To feshe fawa %9 2019 | 423, 1CC World Cup Cricket 2019 will be
1 e T § @ few 3w A fe organized in which of the followin
NTr 2 countries?
A) 3’@“3 T THERATS (A) England and Scotland
(B) 3ffeferam (B) Australia
) W (C) New Zealand
(D) AU wd A (D) England and Wales
124, 2018 1 T TEePR F # A B W | 124, Booker Prize of 2018is received by which
; g:m%? of the following?
(A) St ai-=d (A) George Saunders
(B) uia il (B) Paul Beatty
N ks F/.‘ (C) AnnaBurns
%) INDIRESULT
(D) WA A Yo/ Lt alSed ©) Marton Jarie
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seam R fiuaug % few dy @
9 AT G S NG g T w

(A) BT g

B) A

C€) U8

D) Rt g

ae WRd TFNd gt | frw @
dgdt 77

(A) FF=E

(B) STVt

(C) HIeThral

(D) =%

g firva 3, 2018 T SIS Hel 7
™ 7?7

R

(8) Mure

uuuuuuuuuuuuuuuuuu

126,

126.

127.

uuuuuuuuuuuuuuuuuu

Lhc n:nrnf; oA which islandg of Fevdaman
ﬂrr;obm 181and group is vept Netaji
Subhash Chandra Bose Islandg?

(A)  Haveloey island
(B) Neil islandg
(C) Ross island
(D) Ritchie island

Vande Bharat express connects Delhi to
which city?

(A) Mumbai
(B) Varanasi
(C) Kolkata

(D) Chennai

Where was the Hockey World Cup 2018
organized?

(A) Delhi
(B) Bhopal

(C) Pune

(D) Bhubaneswar
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128. fva anRfs W A aiffs des w7l &

oft?

(A) ATHIREH

(B) A I

(C) &I A nfira

(D) fRTsAvE

129. RfF@A I 2019 F fasar Tam

Sieifae fora 3 % Raerdt 27
(A) SH
B) ¥
(C) S

Py et

130. e F form ET A TR 7 2020 F

fore aregeren 1 AT T GifvE
form 87
(A) @13 aEen

131. mm%ﬁmmmwmm

I T TE T 27
(A) do Tagrat A7
@) do Hererd I

D) @ Anraw fim 4

128.

129.

130.

131.

RRRRRRRRRRRRRRRRR

':/alNDIRES LTE

nnnnnnnnnnnnnnnnnn

re the annual meeting of the Worjy

il ic Forum took place?

Econom
(A) San Francisco

(B) New York

(C) United Arab Emirates

(D) Switzertand

The winner of Australian Open 2018,
Novak Djokovic is 3 player of which

country?

(A) Japan

(B) China

(C) France

(D) Serbia

Which city of Brazil is declared as Woric

Capital of Architecture for the year 2020
by UNESCO?

(A) Sau Paulo
(B) Salvador

(C) Rio de Janeiro

' (D) Fortaleza

After whose name the Legislative
Assembly building of this State is kept?

(A) Pt Ravishankar Shukla
(B) Pt. Sundarlal Sharma
(C) Mini Mata

(D) Veer Narayan Singh

“ ~ —— s e e
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(32, T T S faum @ F wfawa # da

FH 27?
(A) AT HfTF

NG

©C) = fag
(D) FIHIEA AT

%lNDlRESULTE

uuuuuuuuuuuuuuuuuu

132, Who is the leader of opposition in the

Legislative Assembly of this Slate?
A

(A) Dharamlal Kaushik
(B) Charan Das Mahant
)

)

(C
(D

Raran Singh

Brijmohan Agrawal

Guru Ghagi Dag National Park is loéated

.| 13
133. 7% OTH1 <9 Y IAE 39 T4 F Fe § in which of the following districts of this
& fom ot 9 fa 27 State?
(A) SHIqT (A) Jashpur
\_(B')/ i (B) Koria
(C) Surajpur
(C) X
* (D) Sarguja
(D) &g«
134, FENEE FTEH TH TS F Fgl 4T S 134. Where is cassiterite ore found in the
27 State?
(A) <aarst (A) Dantewada *
A e (B) Gariyaband
© = (C) Kanker
(D) Kabirdham
(D) HeERaH
435, Fr= & @ i e 1 9 FFEET | 135, Which of the following waterfalls is known
quTd &gl Tal 27 as Niagara Falls of India?
A e (A) Tirathgarh
(B) FmaH (B) Amritdhara
g (C) Chitrakote
ey e (G4
(#)WDiResuLTE ) Wandus
(D) ®vEdl
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| General Knowledd
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e of State

of the following tribes of thig

: . To which ' :
136. 3T U9 ! FfaRaa # | feg ST 126 State the 'Parab folk-dance is related?
- o ] |
¥ ‘W ST HEld R ) Maria
(A) e (B) Dhuruwa
(B) Y&l (C) Muria
() Ffem (D) Dorla
Py Qe |
. - 137. Inwhichofthe following folk-songs of this
137. mm%ﬁmﬁ#@aﬁ@ﬁmﬁwﬂaﬁ © @it the 'Sarangi' or ‘Ektara’is used as
Fraft’ I ‘SHART I GrilqaTa & &9 4 musical instrument?
ST foRan ST 27 (A) Bharthari
Mﬂtﬂﬂ (B) Sua
(B) g3 (C) Panthi-song
©) roftT (D) 4Bans—song
D) ! 138. . Aswhich of‘the,following Pt. Budd{:aditya
Srefifa o : Mukherjee of this State is known
138. G %H w1 A :Ifﬁl: internationally?
9o 3 (A) Harmonium player
. T &7 (B) Flute player
HElERECIced
\,(:/ g (C) Sitar player
(
D) Tabl
©) RrqrETeH (D) Tabla player
LERIEIEED
(D) _ i @ 139.  Who of the following was the first woman
439. W THA ¥ oy Afgal gaq J6H member of Parliament from this State?
A A7 (A) Saroj Pandey
A) gﬁn form .é.' (B) Rashmi Devi Singh
B 1 ' .
O a0 (YNDIRESULIE  (©) Rajmonni Dev
~_Bf forft wven (D) Mini Mata
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140. Fr=ferfad o @ frw woEw Y w5 Ty
A o H9 O T fa 7

(A) R
By FeER

(C) wiga

(D) §™

141. Fafafiea § 9 oF-1 =8 @ 70 %
TUH W1 ITEeh, forarsl Wigen @ g9ia
TE 27 ;

(A) ‘TUET 9gfd &1 IR9
(B) T TH TATL FHT THIFTT
(C) TgL # T Hfew # fmfor

\ P q S
142. Trfafaa 3§ 8 feg 780 ° 3@ Ta R
e e R Wt w9 3 g
T S ?
\ Wy Tader, 1947
(B) 3TReR, 1947
(C) femm, 1947

iiiiiiiiiiiiiiiii

iiiiiiiiiiiiiiiiii

140. Which of the following dynasties had
ruled this State for the longest time?

(A) Sharabhpuriya

(B) Kalchuri
(C) Bhonsla

(D) Soma

141. Which of the following works is not
associated with the first Maratha ruler of
this State, Bimbaiji Bhosla?

(A) Introduction of ‘pargana’ system

(B) Amalgamation of Ratanpur and
Raipur

(C) Construction of Rama temple at
Ratanpur

(D) Introduction of 'subedari' system
142. In which of the following months all the

feudatory kingdoms of this State were
merged in Indian Union?

(A) September, 1947
(B) October, 1947
(C) December, 1947

(D) January. 1948
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o T ¥ 3w d Freffan 8
-T2 g8 Hfus F0 87

(A) TR

(B) I 9R

L ST TR

(D) S 91

=g ST %1 PEtehEd § § BHE-9 9
T &7 SEEISd S § (g FWEa
TE R?

(A) FTER

(B) it

(C) =W

B TITE

145. 39 US4 20192020 F = A FF &7

5 fore Pttt & & Feet st 7
e T T 27

(A) 21,597 FIS

(B) 22,400 FIS

\_(CY 25,295 13

(D) 26,350 F1S

146, Froifefiga § & FA-H S WA

\Jg)’mm

mmm‘q&gﬁWMﬁM

%mpmss

SUCCESS

ULTE

ARTNER

144.

145.

146.

C’Z{’)INDIRESULTE

YOUR SUCCESS PARTNER

. ollowing 'pat’ IS the highe
Wmcehncgﬁn;'::“ part of this State?

Main pat
Samri pat
Jarang pat
Jashpur pat

] i Lok Szb--
h of the following Sath:
\c:\cl):'scmuencies of this _State is no
reserved for Scheduled Tribes?

Bastar
Kanker
Sarangarh
Raigarh

(A)
(B)
©)
(D)

Which of the following amoun.ts‘Is
allocated for the agricultural sectorin 0
budget of 20192020 of this State?

(A) 21,597 crores
(B) 22,400 crores
(C) 25,295 crores
(D) 26,350 crores

Which of the following companies & -

i}u%. Shareholder of the BNE™
minium Co rba in ¥

State? mpsay RS

(A) Reliance Company

(B) Tata Steel Company

©) Starite Company
©) NTPe
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w1, @A e N S5 g
e R TS 7
(A) JURTR @R Qe
(B) M A1 A
_ AC) TN WA Jsi
(D) TumwEt fafreat aem

148. W TG ¥ FafoRea & @ frg &3 8
‘ Tt et e sweka w22
(A) STA-TEW & e
uB{mgtm

(C) wrufrs e

(D) W J4C
149, FrafeRaa # @ fpw 8 d 8 T g
yfrad do areeRt Yo wTH fea S
27
(A) TTNEIREh T
(B arfe

(C) TE-8aT
(D) TR T IUH

150. 39 TSA H TR GAR] A 5 H
Prfrfiga # @ frg wieiia =1 Ty 27

(A) TEAHTE
By 2aR
(C) @ i

(D) "%

>
/C./g INDIRESULT

uuuuuuuuuuuuuuuu
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147. Which of the following schemes of

medical care of the Central Government
is implemented in this State?

(A)
(B)
(C)
(D)

Pradhanmantri Swasthya Yojana
Ayushman Bima Yojana
Ayushman Bharat Yojana

Pradhanmantri Chikitsa Yojana

148. In which of the following areas the Rajiv

Gandhi Mission is not working in this
State?

(A)
(B)
(C)
(D)

Water collection area management
Food safety
Primary education

Health services

149. In which of the following fields the Pt

Ravishankar Shukla Award is presented
by this State every year?

(A)
(B)
(©)
(D)

Communal harmony
Literature
Social service

Emancipation of women

150. Which of the following folk-songs is

related with the traditionally nomadic
community of this State?

(A)
(B)
(©)
(D)

Dholamaru

Dewar-geet

Jawanra-geet
Dhankul
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